Quiz 19

November 11, 2016

Show all work and circle your final answer.
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(5 points) Find the points on y = z® + 1 closest to the point
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(15 points)Ali launches her canoe from point A on a bank of a
3 km wide river, and wants to reach point B, 8 km downstream
on the opposite bank, as quickly as possible. She can proceed in

any of three ways:

1. Row her boat directly across the river to point C and then run
to B

2. Row directly to B
3. Row to some point D between C and B and then run to B

If she can row 6 km/h and run 8 km/h, where should she land
to reach B as soon as possible?
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Hint: distance = rate X time can be rewritten as time = :

rate




Minimize, Bime «

Z
& ‘l:-' x%+q ke 5
Py D | e 2 =Y
o b3 Labaa) 20} -3
W) e
i{xZxq 8
0¢xe® R
bixtzq ~ @
X=:3- **4 9
S%x)owe. bothh sides - ><Z=—,q[,(x1+q)
x*= T+
1 .e74
X ~ G
2_ 3
R
WiEa - by (G el
0 1" xz.‘- o __-_;:: (
Chedkt +6) flﬁ_ﬁ—@ L
(x?$4) (2 q
_ blx™2) - Ux?
2o (x4 9)*
e 1. OO
. 30 (x%9)

E(Yer)>0 5o [0 mivimizes b




